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a:=vector(20);

f:=x->(2*x+7)/5;

f(x);

a[1]:=0;

a;
a

print(a);

for n from 2 to 20 do
   a[n]:=f(a[n-1]); od:
print(a);

seq(a[i],i=1..20);

Digits:=20;

for i from 1 to 20 do print(evalf(a[i])); od:
0.

1.4000000000000000000
1.9600000000000000000
2.1840000000000000000
2.2736000000000000000
2.3094400000000000000
2.3237760000000000000
2.3295104000000000000



(11)(11)

> > 
(10)(10)

2.3318041600000000000
2.3327216640000000000
2.3330886656000000000
2.3332354662400000000
2.3332941864960000000
2.3333176745984000000
2.3333270698393600000
2.3333308279357440000
2.3333323311742976000
2.3333329324697190400
2.3333331729878876160
2.3333332691951550464

seq(7/3-a[i],i=1..20);


